| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

0 ]
£
Qe
[~ o
28 S
3
o —
= O |x o
= e —
o 2
H
8
o = o
2
) 8
[ 8
= E
— 1%}
! 2
LD o
N S
o F 1
< g
5
) H o
I 4 5]
) 8 [
5
=z
o _ o
N o
£
o O
LE
2 o
25 ~
]
o
S ©
B 2
)
o )
el
! o
o
‘ﬂ. I
)
i
o
o
LD
£
S
I
Q= 5]
£
IS
[~ o
S ~
S
o —
— © N o
s |8 =1
[t} g
£
(=) 8 o
....... i E|
g S
¥ o
! b 'S |
] i g
— = o
s | 2 IN]
) < g '
S ) g
PP PPPIE T [T T o 9 2 11
R - ol o |E &
o [=] o ccP J s S}
ul. — - ey ¢/ o
sxoel] ann 0 z
@ | J
T
aql
n o
N = o
£
o O
LE
= o
i) I
e}
i
3
o
S ©
5 K
)
o )
i
o
o 3| o
T2
)
— b o
| @ N
o 5 |
" 8
Ite] 9| o
N = K
| M st

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


